Math 51 (7:30am — 8:20am) What month is your birthday ?

Midterm 3 What are the first 2 digits of your address ? o

Wed Jun 10, 2009 What are the last 2 digits of your zip code ? g A
What are the last 2 digits of your social security number ? b o st

SCORE: ___ /140 POINTS . [IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER]

NO CALCULATORS ALLOWED ON THIS SECTION

Fill in the blanks. SCORE: ___ /12 POINTS

[a] arccos(—1) = Ty ” il w2_3, . o

[c] arctan(— \/g)z ! [d] cos"{_ 5L
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Solve 7 —6arccosx =27 . SCORE: __ /12 POINTS
—barccos x= - 2ON

Orceos = =24

Co00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000C0000800000000000000000000000000000000000000000000

Find the exact value of 6¢cos 75" sin 75°. SCORE: ___ /12 POINTS
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Solve 1+ 281115 =0. SCORE: ___ /12 POINTS
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1-cos2x
Prove the identity ———
1-cosx

| —cos Ax
(=08 X

=2+2cosx.

SCORE: ___ /14 POINTS
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Ifcosx:—:/-:- and 7r<x<——2-,ﬁnd tan 2x .
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SCORE: __ /12 POINTS
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Find the exact value of COS——.

27

SCORE: ___ /12 POINTS
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Solve cos2x +cosx = —1 in [0, 27).

SCORE: __ /12 POINTS
Depsix— |+ cosx=—|
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Find the exact value of sin(tan ol [— g—] ~cos™ [— —2]] . SCORE: ___ /16 POINTS
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Prove the identity ———
secf +tand

o5 O
Sec E+Hen O
&5 % @_éé_&c.@ - Yan @)
( sc© rYom Y seat) D)

N~
. osB (s '"'_'scS%@’>
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HAND IN THIS SECTION BEFORE YOU PICK UP YOUR CALCULATOR




Math 51 (7:30am — 8:20am) What month is your birthday ?

Midterm 3 What are the first 2 digits of your address ?

Wed Jun 10, 2009 What are the last 2 digits of your zip code ?
What are the last 2 digits of your social security number ? s
[IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,
USE YOUR STUDENT ID NUMBER]

CALCULATORS ALLOWED ON THIS SECTION

Solve 1-2cotx =4 in [0, 27). SCORE: ___/12 POINTS
i i
CSS X =75
: A _ ”_ 2; _ N o ,E:
tenx = - ?2” ~+zon ( =z )= ~(0.54¢
- o / o po— I,"‘"" o 5 T
X = 27T+ ~0.528 = 564> ¢ N\
r D& il____,q__ }é} ] = :}_ s
Ol 77 — O.584 = 2.554 Bt

BONUS QUESTION

Find (and simplify) a formula for tan 3¢ in terms of tan¢. SCORE: ___ /14 POINTS



